1. (2x-5)2 =px* +gx+25  ©, &= p, g ol ko] p—q o] F27

@24 @ 30 ® 36 @ 42 ® 48

(2x)2-2x2xx5+5% = 4x2-20x+25 O| B2 p—g = 4—(-20) =
24
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S0l 2t 7k 9] o] (a+1)m , AI22] 4o] (a+2)m
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(x=y+2)(x+y+2z)5 AMH7] Asl 7HE

O {(x+y) -2} {(x+y) +2}
@ {(x-y) -z} {(x+y) -2}
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5. (2x+b)P=ax*+4x+1 2 W, FFa b Fa+b o H2?

® 1 @ 2 ® 3 @1 @)

(2x 4+ b)? = 4x? + 4bx + b? = ax®> + 4x + 1
a=4,b=1
La+b=4+1=5
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@ (3x+1)? @ (3x-1)?
® (Bx—1)(x-3) @) (3x+1)(x +3)
® (Bx+1)(3x-1)
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@2 ZAsHE x of A7t + 6

@ AAsHE x o A%7F -6

@2 A3t x o A7t -10

@& A5k x o A57t +10

O At x o A7t 0
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8. 2(2x+ 1)~ (x4 4)(x—4)F S| ShH?

D 15x% +16x + 20 @ 15x® +16x-12

® Tx®2+8x-14 @7)62—1-8)6—1—18

® Tx% +4x+17

2(4x° +4x + 1) = (¥* - 16)
= (8x* +8x +2 - x> + 16)
= 7x* +8x+ 18
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(x +y)? = 2% 4 2xy + y?
25 =13 + 2xy

2xy =12

T xy=26
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@ b] = (a+b)2 Do, [2x, —3y] - 2x [-x, 2] B 73] 547

@ 2x2_4xy—2y2 @ 2x2—4xy+2y2
©®)2x? - axy + 52 @ 2x° + dxy +)?

® 2x% + 4xy + 4y?

(2x - 3y)2 — 2 x (—x + 2y)?
= 4x% - 12xy + 9y — 2(x2 — dxy + 4?)
= 2x2 — 4xy +y?




11, o8 3 vl dat e s
© (30-2) @ (Zy-3)
@_ (-gy+3x)2 @ {— (3x—§y>}2
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® 3542 — 3ab + 16b2 @ 3542 - 21ab + 6b>

©)354? - 29ab + 60

A xj7k 9] o))

— (h=) x (A=)
= (7a — 3b)(5a — 2b)
= 35a% — 29ab + 6b*




13. (a+b)(a-b) =a®-b* & o835t ALtsl7] 7 b2 227

O 1982 @ 1012 ®)47 x 53

@ 101 x 103 ® 203 x 302

B

@ 1982 = (200 — 2)?

@ 1012 = (100 + 1)?

® 47 x 53 = (50 - 3)(50 + 3)

@ 101 x 103 = (100 + 1)(100 + 3)

® 203 x 302 = (2 x 100 + 3)(3 x 100 + 2)
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a =311 °J2} 5},

311 x 311 - 310 x 312 -2
=axa-(a-1)x(a+1)-2
=a’>-(a®-1)-2
=a’?-a?+1-2=-1
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((@&c2 +23x 421
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(3x+4)+1=6x%+23x+21
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@ (=x% +2y?*)cm? @ (-x? - 2y?)cm?
@(—x2 + 3xy — 2y?)cm? @ (=x% + 6xy — 2y?)cm?

® (=x + 9xy — 2y*)cm?

~&B

AB £ EB °l, GD € GH ol HA == H3ith= 22 0ABEG
¢} oGHFD 7} A ol 2t Seoltt.

GD 9] Zo]& x—y °|1, oGHFD ©] Azt o|n g GH 20|
T x-yolth

w2b HE 9] Aol y - (x-y) = —x+ 2y°|th
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17. x=ala-6)2 ), (a+1)a-2)(a-4)(a-7)& o] B2 Aoz
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@ x*-36 @ x2-6 ® x2+x
@ x24+x-36 @x2+x—56

B
x=a(a—6)=a*-6a
(a+1)(a-2)(a-4)(a-7)
={@a-2)a-D}{@a-7(a+1)}
= (a® - 6a+8)(a® - 6a—T)
= (x+8)(x-7)
= x? + x — 56
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x_|_y:3, xy:20é[q1,x4+y49’]%):%?

@ 15 @16 @7 @ 18

P =(x+y)?-2xy=32-2x2=5
Loyt = (P +)°)? - 2(w)? =25 - 2x4 =17
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1 1 1 ab + bc + ca 1
-t -t —=—— = _0o|Eg
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1
ab + bc + ca = iabc

s(@a=2)(b-2)(c-2)
= (ab—2a—-2b+4)(c-2)
= abc — 2ab — 2ac + 4a — 2bc + 4b + 4c - 8
=abc—2(ab+bc+ca)+4(a+b+c)-8
=4(a+b+c)-8 ( ab—i—bc—i—ca:%abc)
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20. AA5 0 1‘416}04 22—yt =1 {(x—y)" + ()P (-
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(x=y)" =4, (x+y)" = B =il A|gstH
(o120 A) = (A + B)? - (A- B)* = 44B

= 4(x-y)"(x+y)"
=4(x*-y?)" =4




